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QUESTION 1

A IS-IS TLV includes which two attributes? (Choose two.) 

A. topology 

B. vector 

C. length 

D. value 

Correct Answer: CD 

 

QUESTION 2

Click the Exhibit. 

Referring to the configuration shown in the exhibit, which statement is true? 

A. Traffic destined to address 192.168.5.1 will take next-hop 172.16.1.2. 

B. Traffic destined to address 192.168.5.1 will alternate between next-hops 172.16.1.2 and 172.16.1.3 
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C. Traffic destined to address 192.168.5.1 will take next-hop 10.0.1.1. 

D. Traffic destined to address 192.168.5.1 will take next-hop 172.16.1.3. 

Correct Answer: D 

 

QUESTION 3

What is the purpose of the designated router in OSPF? 

A. to connect a stub area to the backbone area 

B. to connect a totally stub area to the backbone area 

C. to form adjacencies with other OSPF routers in a backbone area 

D. to form adjacencies with other OSPF routers in a broadcast domain 

Correct Answer: D 

It is the designated router\\'s job to form an adjacency with all other OSPF routers on the link and to advertise the link-
state information to the AS. 

 

QUESTION 4

Which Layer 2 mechanism logically groups network nodes into separate broadcast domains? 

A. IS-IS levels 

B. OSPF areas 

C. VLAN 

D. IP subnets 

Correct Answer: C 

 

QUESTION 5

On a Junos device with dual Routing Engine (RE), which two statements correctly describe the expected behavior if the
primary RE fails? (Choose two.) 

A. The backup RE will assume the master role once the packet forwarding engine (PFE) restarts 

B. The backup RE will immediately assume the master role 

C. The new master RE restarts the routing protocol process (rpd) and establishes any required adjacencies based on
the configuration. 

D. The new master RE maintains the existing protocol adjacencies initially established by the previous master RE 
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Correct Answer: AC 

When a Junos device has redundant RE\\'s but no HA features enabled, and the master RE fails, the PFE restarts and
all hardware and interfaces are discovered by the new master RE. The new master RE starts rpd so that all adjacencies
are aware fo the topological changes. 
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